
WG6500-1 系列焊箱换焊箱 

Welding parts assembling  

用到的工具：8#套筒，10#套筒  

Tools in request: 8# sleeve, 10#sleeve 

 

1、 取控制面板：松开 4 颗 M6X14 螺栓（8#套筒），取下控制面板； 

Release 4 pcs of M6X14 bolt (by 8# sleeve) to knock down panel 

                  

        

2、 取焊箱：松开焊箱安装螺栓（左右各三颗 M8X10 螺栓，10#套筒），取下焊箱； 

Release 6 pcs of bolt M8X10 by 10# sleeve to knock down welding part 

                    

 

3，安装焊箱、安装面板，完成 

   Replace welding part, assemble panel. 

 

控制面板 

panel 

M6X14 螺栓 

Bolt 

M8X10 螺栓

bolt 

焊 箱 

Welding 

part 

取下面板后 Without panel 


